Algebraic Expressions
Exercise 6C

Q1
Answer :

—=4dax 3a + 4dax 7b

—4x 3 xal*) 1 4x 7Txaxb
—12a% +28ab

Q2

Answer :

—ba x ba — 5a x 3b
=5xﬁxaxa—(5x3xaxb)

=30a” — 15ab

Q3

Answer :

—8a? x 2a +8a’ x 5b
—=8x2xa’xa +8x5xa’xh
—16a(2+1) 4 40a%b

= 16a% + 40a’b

Q4

Answer:

=0x? x5x +0x2 =7
=0x5xxxx + 0x7xx®
— 45x(2+1) 2

= 45x3

Q5



Answer :

—abxa?—abxb’
_ altre)p _ apli2)
—a’b —ab®

Qé

Answer :

=2x% x 3x —2x2 x 4x?
=2x3xx?xx —2x4xx® xx
=6 x x(1) — g8 x x(2+2)

= 6x® — 8x*

Q7
Answer :
= %mQD X m —I—%mgnxsn

=%xm2xmxn+%x5xm2xnxn

=%m{2'1}xn +3xm? xnltrY)

= %m3n + 3m?’n’

Q8

Answer:

=—-17x2 x3x — (—17:{2 x 4)

= -1Tx3xx?xx +17 x4 x x2
— —51 x x(211) 4 68«2

= —51x% 4 68x2 ¢
Q9
Answer
_T.r 4 7.2
=X XXX +3X x2 N
=%x%xx2xx+%x2xx2
=2 x x(2+1) § 7x2
=2x* X
Q10 .
Answer :

= —4x%y % 3x — (—4x2y % 5}7)

Ax3xx? xx® xy + dx5xx2 xyxy
=-12xx(?) xy +20 x x2 x y(+1)
= —12x'y +20x%y?

Q11

Answer :

4 9.2 f 4 3
= XY X 3 X’ Y5 (ﬂxyz xdxyf)
o

4 2 4 3
57 X g XXXX XYyXyXzxz + ﬁxzxxxxxyxyxzxﬁ
_T2XX(“2) Xy(lll)xz(ul} + %xxfl{l)x},(l{l)xz(lm)

=2y + 1y

Q12

¢



Answer:

=0t xt + 92 x 73

=0xt?xt+0xTxt?xt?
=9 xt1) 163 x (19

=0t 4 63t°

Q13

Answer :

=10a® x 0.1a — 10a® x 0.5b
—10x0.1xa’xa —10x0.5xa’xb

—1xal®) —5a%
—a* —5a’h

Q14

Answer:

= 1.5a x 10a?b — 1.5a x 100ab?®

=1.5x10xaxa’h — 1.5x100xaxaxb’

—15x al+2p— 150 x alt+1) x p?

— 15a%b — 150a%b?

Q15
Answer :

2

2

Q16

Answer:

24x? (1-2x)
= 24x? x 1.4 24x? x 2x
=24x2 £ 924 x 2 xx®xx

= 24x% — 48x°
Whenx — 2:

L.HS. — 2@2(1—2:;) e 24x22(1—2x'2) — 06 (1—4) — 06 x (—3)
R.HS. — 24x—48x? — 24x 2% 48x 2" — 06384 — — 288

L.H.5.= R.H.S.

. 24x? (1—2x) — 94x” — 48

Q17

Answer:

2

ab(+b2)

—=ab x a? 4 ab x b’
—axaZxb +axbxb?

—alt12) o p +a.xb(“2}
=a’b +ab’

Whena=2andb =—;,Weget:

L.HS. = a.b(a.2 +b2) — 9y % (224_%)

3
RHS. — b +ab’ = 2 x % + 2x (1)

. L.H.S. = RH.S.

Q18

—§a.bc><a2 —i—%a.hc><bz—§abcx3|:2

4+

4+

=

3a.xasz><c+§axbxb2xc —§x3xaxbxcxc2

xa(l'zlxbxc—i-%xaxb(lm)xc — 92 xaxhbxcdt?
=%a.3bc +§ab3c — 2abc®

— 288



Answer :

s (s*— st)

—sxs’—sxst

—gltr2) _glien) g
—s® — st
Whens =2 and t = 3, we pet:

LHS. — 5(52 —st) - 2(22—2><3) — 2 x(4—6) — 4

RHS =%t =22-22x3 =8 -12 = —4
L.H.S.— R.H.S.

. s(s2 —st) = 5% —s%

Q19
Answer :
—3y(xy+3r2)
=3yxxy —3Jyxy’
= 3Ixxxyxy —Ixyxy®

= 3xxxyltH) —3xyl)

=-3xy* 3y

When x = 4 and y =5, we get :

LHS. — —3y(xy +y2) - —3x5(4x5 + 52) — 15 x (20 +25)
R.H.S. = 3xy? —3y® = —3x4x5 —3x5 = —300— 375 =—675
L.H.S. = R.H.S.

" —3y(xy +y2) = —3xy? -3y’
Q20

Answer : p

a(b—c¢) +blc—a)+c(a—hb)
—axb —axc +bxc —bxa+ecxa —cxb
—ab —ac +bc —ab +ac —be
=0

Q21
Answer:
a(lb—¢c)—b(c—a)—ela—h) N

=axb —axc —bxetbxa —cxatcxb
—ab +ab —ac — ac —bec +be

=2ab — 2ac

=2a(b—c)
Q22

Answer :

Ix* +2(x+2) —3x(2x+1)
=3x? +2xx +2x%x2 —3xx2x —3x
=3x* +2x +4 —6x —3x
=—3x—x +4

Q23

Answer :
x(x+4) +3x(2x2—1) +4x? +4
—xxx +xx4 +3xx2x* —3x +4x° +4
=x(1+1) 4x +6xx(14D —3x +4x2 +4

=x? +4dx +6x° —3x +4x* +4
=6x% +5x% +x +4

Q24



Answer:

2x? +3x(1—2x3) +x(x+1)
=2x% +3x —3x =2 +xF +x
—92x? +3x —6xx1) 4 x24x

=2x% +3x —6x* +x% +x
= —6x* +3x? +4x

Q25
Answer :
a?b(a— bﬂ) + ab2(4ab— 232) - 3|.~;(1 - 2b)
—a’bxa —a’bxb® +ab?x4ab —ab® x 2a? —a’b +a’b x 2b
—al) xb — a2 x bl 4 4xaltt) x ) _ 25 a(112) x b2 2% +2 xa®
5 plt)
= a’b —a’’ +4a’b’ — 2a°b* — a’b + 22°V°
=3a’b*

Q26

Answer:

4st(s—t) —ﬁsz(t—tz) —3t2(232 —s) +28t(s—t.)
—dstxs —4dst x t —6s% x t — 65 x (—tz) — 37 % 257 — 3t% x
*t
—4xsi) xt —dxsxt) —6s2t +6s2t2 — 6t2s2 + 3t2s
« gl1+1)
— 48t — 4st? — 65t +657t% — 6t%s7 + 3t%s + 2%t —
=45t — 65t + 2s%t —4st® + 3Ist® — 2st®
= —3st?

o

&



